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O X 102,957,000& 102,957
Al 30,887
2 72,070
O-P 14,200, 0002 14,200
OX4 RYY Wl A
9,000&*5005*33| 13,500
Al 5,400
o 8,100
oJEgd e 2 50,000,000 50,000
OBEYHEH ASAETY
12,500&! *1,600kg 20,000
OJI=&Y MRS == 2
20,000,002 20,000
St =8t oAl Al
802/*x500,000=%23| 80,000
OdtetH 22 254E 22
38,830,000 33,880
OJIME FHAES 7L 90,000
ONVHA ANS, Z2Y 4 500&+20,000% 90,000
OS0HA 2Y REIIE 2
30,0002 *1,0005%= 30,000
OJI=s 2129y 2+
30,000,000 30,000
301 LEtEX 2 158,800 158,800 0
Al 31,680
= 127,120
14 JIEIB A2 158,800 158,800 0
0222 Hz&=H|
1,100,000 x9Y » 12& 118,800
Al 31,680
= 87,120
oZAY WHESE A=l
5,000&%8,0005 40,000
307 S1Zto| & 92,000 82,000 10,000
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M AHIK QMO OHF ZAS M
el JIEdEd A 2 s=22 =X (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 25,000
s 67,000
02 2IZHB A E £ 92,000 82,000 10,000
O« (50HX1) ORt St 22HIS X
200, 0002 *3205*50f% 32,000
O2ASIH 1818 HEAXH
60,000,000& 60,000
Al 25,000
o 35,000
308 XXM SOIA 54,000 0 54,000
Al 18,000
= 36,000
1 SIS0t oA AS A 54,000 0 54,000
OJI=2Y =228 X
100,0002 *1,8005*30f% 54,000
Al 18,000
o 36,000
402 212+ X201 & 206,500 57,600 148,900
Al 69,000
[Ea 137,500
01 QI X2 AL E R (KHMITHE) 40,900 0 40,900
QJtE HIALE X2IAE XIE
35,000, 0002 *1CH*50% 17,500
O ME2HE 23U A&
80, 0002 «300CH*60% 14,400
OR& F=AD| K& 6,000,000 *3CH*50% 9,000
02 SIINEANSEX(0IETHR) 165,600 57,600 108,000
o4 ME2EE 88U X2
80, 0002 *300CH *60% 14,400
Al 6,000
= 8,400
OFA NHSASAE X2
6,000, 0002 *12CH*60f% 43,200
Al 18,000
s 25,200
OF4tsTH A EX X
20,000,000 *9IH 2= +6(0% 108,000
Al 45,000
= 63,000
=gs X 95,362 93,988 1,374
101 @12A4H| 33,122 31,748 1,374
04 JIZtN22 XS 2+ 33,122 31,748 1,374
OJIEge 22X 33,122
OoJlzs 76,9602 x2H 1282 19,702
Oxg=g 76,9608 x2& »562 8,620
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o9l JIEFYY XS YL S225 =X (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OuEH|, =l 10,0002 x2& 1282 2,560
OJE+E 1,440
o BHSX 40,0002 x2H+6E 480
& - HI= 80,0002 x2H 62 960
OE &=l 400,000 x2H 800
201 Ler23| 36,000 36,000
01 At2teltl 36,000 36,000
Odgt+==H| 18,000
OJisgsad 225 2
2,000,000& 2,000
OS28%E LA ARY|
12,5002 +80H 1,000
ON=EEHE AKXl =58
250,000 *605 15,000
OZX= 18,000
OHIAE 2 SZEI(2471 )
600, 000& *302] 18,000
301 EtE NS 14,240 14,240
11 HAIMHIXIZ = 2,240 2,240
OIIEdEE aXE AL 4HI2d
8,000& 7 *402] 2,240
14 0Bt 243 12,000 12,000 0
OINEHYY MM QIR
300,000 *402] 12,000
307 212+01& 12,000 12,000
06 2&3 2,000 12,000
OB HEOIT AE|DE
600,000& x20H 12,000
FHS LA HEgAS 2 XNE(FHA) 670,374 626,914 43,460
= 390,590
Al 142,940
s 136,844
206 MH=HI 176,998 176,998 0
= 118,827
Al 32,133
[Ea 26,038
01 MHZHI 176,998 176,998 0
OFHMS GlAS (Hal7e)
196,764,000 156,764
= 109,988
Al 23,388
o 23,388
OFNS HAHS 23|
20,234,000 20,234
= 8,839
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ol JIEXYY X Y =225 =X (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 8,745
s 2,650
301 EtE N = 368,000 347,140 20,860
= 184,000
Al 92,000
= 92,000
14 IIEt2 8= 368,000 347,140 20,860
OTHS HHES A=t 368,000
O 5,000 %52,9005% 264,500
= 132,250
Al 66,125
s 66,125
@)=E 10,0002%10, 3505 103,500
= 51,750
Al 25,875
s 25,875
307 elztol & 125,376 102,776 22,600
= 87,763
Al 18,807
= 18,806
02 LB HAHE L 125,376 102,776 22,600
OFHMS OlgA (AP 2F)
125,376,000& 125,376
= 87,763
Al 18,807
T 18,806
SSENE =2¢ 458,306 441,216 17,090
Jl 229,153
Al 114,576
Ea 114,577
308 XXM SOIA 458,306 441,216 17,090
Jl 229,153
Al 114,576
s 114,577
11 B[ 2S0He & EAS A 458,306 441,216 17,090
OSSN 244l & 22|
458,306,000 458,306
Jl 229,153
Al 114,576
s 114,577
HNE2ENS 473,658 398,016 75,642
= 378,928
Al 47,365
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Ol JIENEY [ Y 225 =X (69 =)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
i 47,365
301 LPBNF 473,658 398,016 75,642
= 378,928
Al 47,365
i 47,365
14 J|EIE A= 473,658 398,016 75,642
OJt= Xz 2= 473,658,000& 473,658
= 378,928
Al 47,365
= 47,365
HIS LAl HEEE 2 JA(BR4dety, Z) 159,000 159,000 0
= 31,800
Al 63,600
= 63,600
301 LetENEZ 159,000 159,000 0
= 31,800
Al 63,600
= 63,600
14 JIEt2 43 159,000 159,000 0
O4 S2szly o 2y 2AA WY
15,000&%10,6005 159,000
= 31,800
Al 63,600
= 63,600
RS LA S 2 X2(HX H28H0l212A) 116,000 116,000 0
= 34,800
Al 34,800
= 46,400
307 QIZt01A 116,000 116,000 0
= 34,800
Al 34,800
i 46,400
02 QIZHAAAIHE X 116,000 116,000 0
OSHAl WMZHIOIHA AL XIRALS
2,000 %58,0005 116,000
= 34,800
Al 34,800
i 46,400
FHS LA MgAE 2 XNA(AXNLA2HEE XS 6,000 6,000 0
XI2IAH)
= 3,000
Al 1,500
i 1,500
307 gI2Hol 6,000 6,000 0
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ol JIEXYY X Y =225 =X (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 3,000
Al 1,500
s 1,500
02 QI AHANEER 6,000 6,000 0
OHXNA2dE e Nz KJAAS
10,000, 0002 *1JH 2 +60% 6,000
= 3,000
Al 1,500
o 1,500
THS Al HEAST Y N(FMANSSEN) 36,877 35,877 0
= 17,939
Al 8,969
o 8,969
307 @120l & 35,877 35,877 0
= 17,939
Al 8,969
[Ea 8,969
02 2IZHBYAIAE & 35,877 36,877 0
oGSt AlEZE X1 35,877,000& 35,877
= 17,939
Al 8,969
= 8,969
FHS LA HgAS 2 N OssI 222X 6,000 6,000 0
2At)
= 3,000
Al 1,500
= 1,500
307 elztol & 6,000 6.000 0
= 3,000
Al 1,500
s 1,500
02 LB HAHE L 6,000 6,000 0
OJtssIt 2822 XA
10,000, 0003 *1=+60% 6,000
= 3,000
Al 1,500
T 1,500
2HS L AEAEFY N2 (H A=) SSEH X 32,000 32,000 0
2At)
= 16,000
Al 8,000
s 8,000
307 glztol & 32,000 32,000 0
= 16,000
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ol JIEXYY X Y =225 =X (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 8,000
s 8,000
02 2IZHB A E £ 32,000 32,000 0
O A=) SSLH NAA
20,000,000:& *27H 2=+80f% 32,000
= 16,000
Al 8,000
= 8,000
s= 28 350,422 268,048 82,374
Al 48,600
o 301,822
101 @12A4H| 33,122 31,748 1,374
04 JIZtN22 XS 2+ 33,122 31,748 1,374
sSE23 X 33,122
OoJlzs 76,9602 x2H *1282 19,702
Oxg=g 76,9603 x2& x562 8,620
(OINE=1: | =1=1:] 10,0002 x2& » 128 2,560
ONE=g 1,440
o BHRX 40,0002 x2H+6E 480
EHI=S 80,0002 x2H 62 960
OE &=l 400,000 x2H 800
201 er2 3| 19,000 13,900 5,100
01 At2teltl 19,000 13,900 5,100
Odgt+=H| 19,000
OSE2s s+ A
100,000& *150 2+53] 7,500
O8E cl2d, ZAH S HH
5,000,000 * 14 5,000
OS=SES It &
1,300&5,000H 6,500
206 M=l 10,000 3,000 7,000
01 M=4l 10,000 3,000 7,000
osE23=X 28 =28 7Y
10,000,000& 10,000
301 LEIE NS 268,300 219,400 48,900
Al 48,600
= 219,700
14 IIEt2 83 268,300 219,400 48,900
OSH(OKYstERIIA) N2 e 29
400,000& 100 40,000
OS=25 lzAE 95 =24
50,0002 x4 *43] 800
ORJls= AEESHl & AtMIXeld X 103,400
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ol JIEXYY X Y =225 =X (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORJISE ASE=H|l X2
90,000,000& 90,000
Al 36,000
Ea 54,000
ORIISE AHMXelll X1
13,400,000& 13,400
Al 5,360
[Ea 8,040
FIISS RIEESH & AMIX2IBl XI&(
XE) 72,000
ORIISS A=y
100,000 600 60,000
SIIE2 AR
20,0002 6005 12,000
oRJISE ZEXH 18,100,000 18,100
Al 7,240
o 10,860
ORJIIs= ZE X (XHA)
40,0002 *6005 24,000
Os=SS Alz=tl X2
10,0002 *1,0005 10,000
401 AlZHIZ S0 20,000 20,000
01 Al&HI 20,000 20,000
OErHSE =016 A AAIEH 89
20,000,000 20,000
SE2S ¥ SN (ZDA0 5435} 239,315 67,092 172,223
= 30,400
Al 45,600
[Ea 163,315
101 @12A4H| 34,120 11,547 22,573
04 JIZtN2 2N S+ 34,120 11,547 22,573
0z1A0| sdat EX 34,120
OJlzs 79,6702 x2H*1282 20,3%
Oxg=g 79,6703 x2& 562 8,924
OusSHl, =&l 10,0002 x2& 128 2,560
OJIE+E 1,440
o BHSX 40,0002 x2H 6 480
EHI= 80,0002 x2H 62 960
og&+d 400,000 =2H 800
201 er2&| 13,195 3,045 10,150
01 At2teltl 13,195 3,045 10,150
02120 sS4zt =574
13,195,000& 13,195
301 Eet2 NS 192,000 52,500 139,500
= 30,400
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ol JIEXYY X Y =225 =X (12l M2
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Al 45,600
s 116,000
14 IIEt2 8= 192,000 52,500 139,500
©02DNYO0l ZH5 45 X
200,000 *7605 152,000
= 30,400
Al 45,600
= 76,000
OZn§0| 43t == X (XtH)
200,000 2005 40,000
RERIISES LAl XA 9,750 5,700 4,050
= 4,875
Al 1,625
o 3,250
301 EtE N = 9,750 5,700 4,050
= 4,875
Al 1,625
= 3,250
14 IIEt2 83 9,750 5,700 4,050
OR4 RJIS= &2H N2
250,000 *655+60f% 9,750
= 4,875
Al 1,625
s 3,250
RIIRAdsE FXESH XA 35,000 5,600 29,400
= 10,500
Al 7,000
= 17,500
301 EtE NS 35,000 5,600 29,400
= 10,500
Al 7,000
o 17,500
4 JIE2 8= 35,000 5,600 29,400
Re RIIS=E x2S XA
70,0002 *5005 35,000
= 10,500
Al 7,000
s 17,500
HN=A SHete= NE 43,200 0 43,200
= 9,600
Al 9,600
s 24,000
301 EtE NS 43,200 0 43,200
= 9,600
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o9l JIEFYY XS YL S225 =X (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 9,600
s 24,000
14 IIEt2 8= 43,200 0 43,200
O&AAN=A ot X
400, 0002 *1205*90% 43,200
= 9,600
Al 9,600
= 24,000
SSAFYA 2Y 8,000 8,000 0
201 Ler23| 1,200 1,200
01 At2teltl 1,200 1,200
O W=HI 1,200
OSSYS==2fA A7 A LS
300,000 x2H*23] 1,200
202 04| 6,800 6,800
01 =LHO LI 5,200 5,200
OTEYHA2IA TLIGHHI
200,000& x2EH 12 4,800
O=SLS+2AF 221018]
100,000 2 »23] 400
05 SR W=0| 1,600 1,600 0
OZBSYA= AL A7 1= 0
400,000 x2E 22 1,600
HEASAE 29 276,167 191,563 84,604
101 @124H| 200,567 125,963 74,604
M ORIMZZ2NSE S 200,567 125,963 74,604
OHBASAIE JIEYY 2X 200,567
OoJlzs 76,9602 x0EH 167 115,671
Oxrd=+d 76,9603 9L 782 54,026
Oustl, sS4 10,0003 x9& 167 15,030
OE+E 8,640
o B 40,0002 x0H 82 2,880
. &l 80,0002 0 +8& 5,760
Og&=4g 400,000 «0E 22 7,200
201 2= 35,600 36,600
01 At2t2lt] 9,200 9,200
Ogt=3H| 5,400
OARY ES 100,000& * 12 1,200
O34 & aldd E3
100,000 * 122 1,200
OAgotEe IS =2
150,000« 12& 1,800
ORQBHIESY ===
100,000& * 12 1,200
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
oY= 3,800
Od=JI 100,000 *1CH* 12 1,200
(@ ]IE] 50,000 1CH* 122 600
OSEHI(XAR 8)
500,0002 *1CH*43] 2,000
02 S5=g4l 26,400 26,400 0
02223 2 HAl 21,400
Ol 2 4+E 23
1,500,0002 122 18,000
OV & QHUQS(SANSSSAIAH)
200,000 * 122 2,400
OME SN2t 1,000,000& 1,000
OAEEBIS X 5,000,000& 5,000
206 24| 0,000 10,000
01 b 10,000 10,000
omzs| 10,000
ONBASALY U ASOHE
12,5002 *800kg 10,000
401 AlZHIZL RO 30,000 20,000 10,000
01 Al&H| 30,000 20,000 10,000
O2lg=Al 2 30,000,000& 30,000
SHE=A2EASHIEXAAMS 110,000 110,000 0
= 55,000
Al 27,500
= 27,500
206 M=l 110,000 110,000 0
= 55,000
Al 27,500
T 27,500
01 MHZH| 110,000 110,000 0
OSH=4L2dg & ASHIE NH
110,000,000 110,000
= 55,000
Al 27,500
[Ea 27,500
THS & AIMEAE PR (CPSAADYISSTE) 36,000 36,000 0
= 18,000
Al 9,000
[Ea 9,000
201 =3 36,000 36,000 0
= 18,000
Al 9,000
s 9,000
01 AtR2t2|HI 36,000 36,000 0
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OGS &Al HAS3 MA =5
60,0002 *600CH 36,000
= 18,000
Al 9,000
T 9,000
cctvs &9 elmgt 25 200,400 28,800 171,600
Jl 100,200
Al 50,100
Ea 50,100
402 QI2F X201 & 200,400 28,800 171,600
Il 100,200
Al 50,100
s 50,100
02 QI EASEZ(0IETHR) 200,400 28,800 171,600
OCCIvs &9 olzet X X At
200,400,000 200,400
Jl 100,200
Al 50,100
s 50,100
&, 0lel &9 & ey 9,300,220 7,809,119 1,491,101
= 2,692,053
= 142,000
) 55,848
Al 1,362,685
= 5,047,634
ANy N 540,000 540,000 0
Al 232,000
Ea 308,000
SAE Q2R (HEAY) 290,000 290,000 0
Al 232,000
o 58,000
206 M=l 290,000 290,000 0
Al 232,000
o 58,000
01 MHZHI 290,000 290,000 0
AT DA ALY 290,000,000 290,000
Al 232,000
= 58,000
HOITHR o & 2t 250,000 250,000
308 AHXIEMSOIH 250,000 250,000
1 SIS0t HAS A 250,000 250,000
OUCHHILISE At=2c| 50,000,000 50,000
O&H & 2EZ XA S
100,000,000 100,000
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NN R EER=E)
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OXtA E4 100,000,000 100,000
ol |4 XNH 1,391,407 801,719 589,688
= 365,053
Al 419,761
= 616,593
ogel A X1 16,400 16,400 0
201 er23 | 1,400 1,400
01 At2teltl 1,400 1,400
OFMEHAAS
70,000 20 *12 1,400
307 @I2t0| & 15,000 15,000
04 GIZFSHALA 15,000 15,000
(OFFaigeate:
15,000,000& 15,000
HYEE W& 515,556 188,496 327,060
Al 279,312
= 236,244
201 Ler23| 16,000 12,400 3,600
01 At2teltl 16,000 12,400 3,600
Odgt+==H| 16,000
O=tEEX 52
7,500 x100F 122 9,000
ORI
10,0003 +700% 7,000
206 M=l 3,000 3,000
01 MZH| 3,000 3,000
OHZIMA = 2
3,000,000 3,000
307 @120l & 496,556 122,636 373,920
Al 279,312
o 217,244
02 QI2HH&A 496,556 122,636 373,920
OLtE ogel
360, 0003 * 122 +8(% 35,136
Al 17,568
= 17,568
oA 75,000,000& 75,000
O &= XI(V-PASS) ==clHIZ X
625,000 *40Z! *50f% 12,500
o0& F =l X 373,920,000 373,920
Al 261,744
s 112,176
Zlgd U XEZ & 281,400 248,000 33,400
= 140,700
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B 0=, 012001 40| W BHal
el ogel =4 A& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 70,350
s 70,350
402 QIF X201 & 281,400 248,000 33,400
= 140,700
Al 70,350
[Ea 70,350
02 QI TH2AILEE (01X THE) 281,400 248,000 33,400
ozletd NUXZEZEH 23
281,400,000 281,400
= 140,700
Al 70,350
o 70,350
SAMEAE S 73,848 60,420 13,428
Al 36,924
= 36,924
308 XXM SOIA 73,848 60,420 13,428
Al 36,924
Ea 36,924
11 DI ZSUHEZ AR ISAIAY] 73.848 60,420 13,428
O0lEE MoK 2AEE Xe
33,020,000 33,020
Al 16,510
2 16,510
O0ld T HaTs N
34,646,000 34,646
Al 17,323
= 17,323
OOl Mol 2428 XA
6,182,000 6,182
Al 3,091
o 3,091
=ME RS E IBAIE X 64,000 60,800 3,200
Al 32,000
= 32,000
307 elztol & 38,400 38,400 0
Al 19,200
[Ea 19,200
02 2IZHBYAIAE & 38,400 38,400 0
o=¢E 2SI X
1,200 %40, 0000H +80% 38,400
Al 19,200
s 19,200
402 212 X201 & 25,600 22,400 3,200
Al 12,800
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FA Faot
B 0=, 012001 40| W BHal
el ogel =4 A& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
&AL OIZAIAE 15 3,500 0 3,500
= 1,750
Al 875
[Ea 875
307 212+01& 3,500 0 3,500
= 1,750
Al 875
s 875
02 QB HANEER 3,500 0 3,500
OOI&AILD HIZAIAE 2=
3,500,000& 3,500
= 1,750
Al 875
o 875
2t &2y 7,368,813 6,467,400 901,413
= 2,337,000
[ 142,000
Jl 55,848
Al 710,924
s 4,123,041
HEZF0IE & Aot 1,229,276 773,536 455,740
Al 15,000
Ea 1,214,276
201 Ler23 | 15,000 24,000 29,000
01 At22t2lt] 10,000 19,000 29,000
Oggt+==H| 10,000
OgANE =&l 1,000,000 * 104 10,000
02 S3=gHl 5,000 5,000 0
O0g JIsAlE 2el 5,000,000 5,000
301 EtE NS 2,000 5,000 A3,000
14 0Bt 2as 2,000 5,000 23,000
Ot Es FHA Y
2,000,000 2,000
401 Al HIZL 01| 1,212,276 744,536 467,740
Al 15,000
[Ea 1,197,276
01 Al&H| 1,205,000 740,000 465,000
OF=tAIE KX 210,000,000 210,000
OXgog A2+ 30,000,000& 30,000
Al 15,000
o 15,000
O WAL 2LSAt 965,000
O&AIZ I 20,000,000& 20,000




FA Faot
M OE, 0{Y0l 40| F B
ol 32t T4 (ehol:®el)
SA - B BRA(SH) - HRA - of v G o HIDE2
O3 A 945,000,000 945,000
03 Al 2 0HYI 7,276 4,536 2,740
OXMAIESNIES AlESOH|
1,323,000& 1,323
O IWLXIAIE 2LSA AILRH
Bl 5,953,000& 5,953
OHMAILL ZERO Ot 1= ALY 1,794,050 210,000 1,584,050
401 AlZHIZL S0 1,794,050 210,000 1,584,050
01 Al&H| 1,790,000 210,000 1,580,000
OLIAtGHOE HAoHEH| HEIN Bl ZLIHE
9 250,000,000 250,000
Odlote fdsUNEd =8 9
40,000,000& 40,000
OZIote Moy =& ZHISA
1,500,000,000& 1,500,000
03 Al 2 CHHI 4,050 0 4,050
OZIote Moty =& JHISAH AIER
tHol 4,050,000& 4,050
HMB2 22 & 28 Il HLAS(SIHAEXY) 141,000 141,000
308 AtXIEMSOIE 141,000 141,000
11 S| 2SO0 UeB XA AIE 141,000 141,000
Odiks2t = & Jls HEA
141,000,000 141,000
AEAHE Q12| EXI(HEAY) 100,900 100,900 0
Al 90,000
= 10,900
401 AlZHIZ SO 100,900 100,900 0
Al 90,000
Ea 10,900
01 A28l 100,000 100,000 0
OAENHA 1T XA
100,000,000& 100,000
Al 90,000
o 10,000
03 Al 20HHI 900 900 0
OLE0d 2| EXIAE AR
900,000 900
STE HERE 00AH 3,200,000 170,000 3,030,000
= 2,240,000
Al 480,000
= 480,000
207 ARl 123,000 0 123,000
= 86,100
Al 18,450
[Ea 18,450




FA Faot
B 0=, 012001 40| W BHa
el AeB2 &4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 H1ESHI 123,000 0 123,000
O&de HERE 300 A=A
123,000,000 123,000
= 86,100
Al 18,450
= 18,450
403 MR SHHMSAH=01H 3,077,000 170,000 2,907,000
= 2,153,900
Al 461,550
T 461,550
2 2J|ZSOHER=H IS AT | 3,077,000 170,000 2,907,000
0BT OERY A0AY
3,077,000,000& 3,077,000
= 2,153,900
Al 461,550
Ea 461,550
BiCter 2 XIZ 0l XI& 111,696 106,380 5,316
Jl 55,848
Al 27,924
[Ea 27,924
101 @124H| 111,696 106,380 5,316
Jl 55,848
Al 27,924
s 27,924
04 JIZtN2Z2 XS E+ 111,696 106,380 5,316
OtittEEXZB0l 23 111,696,000 111,696
7l 55,848
Al 27,924
o 27,924
HOF ZHIAIE 74,971 32,000 42,971
101 e124d| 42,971 0 42,971
M ORNZZ2NSE S 42,971 0 42,971
Oolietot stB HHIALS 42,97
oJlzs 76,9603 x2H 167 25,706
Oxd=dg 76,9603 x2& 78 12,006
OF=F=1{:] 5,000& x2& 167 1,670
OusH| 5,000 *x2& ~ 167 1,670
OJE+g 70,0003 x2H+8E 1,120
og&+¢ 400,0002 28 *1& 800
201 er23| 32,000 32,000
01 AtR2t2|HI 32,000 32,000
Ooliot etF8Hl =57
200,000& x102] 2,000




2A:
PSR
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
BEEEEEREEE 30,000, 0002 30,000
SHREALID] X2l A 284,000 284,000 0
= 142,000
Al 71,000
= 71,000
101 @124H| 210,000 210,000 0
= 105,000
Al 52,500
[Ea 52,500
M ORNZZ2NSE S 210,000 210,000 0
OodHMe I MelAt 210,000,000 210,000
= 105,000
Al 52,500
s 52,500
201 =3 74,000 74,000 0
= 37,000
Al 18,500
s 18,500
AR 22 (] 74,000 74,000 0
OdflMeD| MelE 74,000,000 74,000
[ 37,000
Al 18,500
Ea 18,500
o ord ke 131,500 124,500 7,000
201 et 3| 131,500 124,500 7,000
01 At2t2l] 131,500 124,500 7,000
oggt=ZH] 131,500
OLtALE, E0HoliH ot 2te] & e
= X 24 130,000,000 130,000
OdligtM g & o et ate] 82 S
2t 1,500,000 1,500
HX 2 Mol=+ K& 143,700 102,564 41,136
101 21AH| 5,000 3,864 1,136
M ORNZZ2NSE S 5,000 3,864 1,136
OO S THaH Tl 1= 5,000,000 5,000
201 er23| 84,000 84,000
01 At2tltl 84,000 84,000
Ogt+==H| 2,000
OXxoad 29 2,000,000& 2,000
oOZx=z 82,000
OX N SHENE Xl
420,000& x10X ~ 10! 42,000




FA Faot
BB OfF, 020 a0l B By
ol 32t T4 (ehol:®el)
SA - B BRA(SH) - HRA - of v G o HIDE2
OdfietX gy Jl, Mool S S&Hl Xt
40,000,000& 40,000
206 M=l 50,000 10,000 40,000
01 M=4l 50,000 10,000 40,000
OXFSHTHaH CHHI 43tatA XIS
50,000,000 50,000
301 22N = 4,700 4,700
11 dALEEIXIE S 4,700 4,700
OO ol EIHAH AldI =24t
8,000 *208 »20 3,200
OBItHE ALY & OIS FAAF &b
24 3,0003 %2502 *23] 1,500
SOl HSTPHIAIS (HE) 20,000 20,000 0
= 20,000
201 Ler23| 20,000 20,000 0
= 20,000
01 At22t2lt] 20,000 20,000 0
OX Nl &t 20,000,000 20,000
= 20,000
SOl S M AN (BTt 5,000 5,000 0
= 5,000
201 er2 3| 5,000 5,000 0
= 5,000
01 At22telt] 5,000 5,000 0
OBHII2IMA & Xt 5,000,000& 5,000
= 5,000
22 US XN 72,000 72,000 0
= 72,000
307 el2to| & 72,000 72,000 0
= 72,000
02 LB HAHE L 72,000 72,000 0
OL=x2 s A& At 72,000,000 72,000
= 72,000
01 THoHOo2E 54,000 54,000 0
Al 27,000
s 27,000
201 er23| 54,000 54,000 0
Al 27,000
= 27,000
01 AtR2te|bl 54,000 54,000 0
OO0 MoHoe &8l Xt
54,000,000 54,000
Al 27,000
o 27,000
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M OE, 0Pl oo & ety
el AeB2 &4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
et 2hHAl 1,000 2,000 21,000
206 M=l 1,000 2,000 21,000
01 MZH| 1,000 2,000 1,000
Oofieted HEs + 1,000,000 1,000
EYHUHY AldES 2el 5,720 5,720
206 MH=H| 2,000 2,000
01 M=4l 2,000 2,000
O=-80g Ald= EH I 728
2,000,000& 2,000
301 2eEN= 480 480
11 AALEEIXIE S 480 480
OB NS B EII AHI2Y
8,0002 x4& » 15 480
308 AHXIEMSOIE 3,240 3,240
12 JIEtR8=s 3,240 3,240
CEENVEREESIREI=
3,240,000 3,240
Biatzd OIHE =d & d=tdd 2& 1,474,982 1,608,695 133,713
Al 100,000
= 1,374,982
Bt el 2 29 1,062,612 1,134,498 A\81,886
EistZdEl2r =2 468,562 388,248 80,314
101 @124H| 33,122 31,748 1,374
04 JIZtNZ2 2N S+ 33,122 31,748 1,374
OHi=tZdEi2t OhE & ot JIZFHI2 2 At 33,122
OJlzs 76,9602 x2H*128L 19,702
OFg=g 76,9603 2 »562 8,620
O=gtl, usH] 10,0002 x2& 128 2,560
ON=E4g 1,440
ENEE LOGE
20,0002 x2H+6& 240
CEIN; 40,0002 x2H 6 480
. =M 60,0003 »2&»6 720
Og&E=Itd| 400,000 x2E *13] 800
201 ger= 3| 331,960 283,140 48,820
01 AtR2tc|HI 331,960 283,140 48,820
OZEt=EH| 244,960
OMef2 A2F 2 10,220
EIRSPN 50,0003 *1002} A 5,000
. ReDISE 2,220 *1,0000H 2,220
. SEd 28 248 A2E 7Y
3,000,000& 3,000




SA ERAD
I B AR X4 L MSOUNH B&
o2 EHStZME2 2H CEEREE
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OFIIHE(ME, &X) S
1,500,000& 1,500
OY&EE IIEAM =2
200,000& x12& 2,400
O&H| X2 15,660
LD AR2 65,0002 *3CH* 122 2,340
. il Xtz 30,000 *19CH*12& 6,840
. 2 ED| AX=
45,0003 *120H*12& 6,480
OMEf2 EE=S MIE 45,000
MEHE 2IBY R (22, I2)
10,000, 000& 10,000
., e clZ2g gsX ME(MEX, A
EHI X)) 15,000,000& 15,000
., MEHZ EEE MAEA(S4Y, iU S)
10,000, 000& 10,000
. MMEHZ JIEE M
5,000& *2,0007H 10,000
O0gI0] &8 2HEE PA(Z2EF
X, A 5) 5,000,000& 5,000
OHMEf2 B20I3 =8 ¢
4,000,000 4,000
o9 3#H sSga & 8,000,000& 8,000
OFAI Ot& & SX|2te| 108,600
. AYAIE BEUE B8
400,000 128 4,800
Moot e 24
600,000+ 12& 7,200
. S| qAHE 249
400,000 x 128 4,800
. 1= EH| 89 4,300,000&x12& 51,600
201AH| 24 400,000 x 128 4,800
HA oAS B
500,000& «63| 3,000
. NeX 34 29 2,000,000& 23| 4,000
. SHES BOE U2EA 89
4,000,000&*13] 4,000
. Y L AUHIE NE 29
10,000,000& *13] 10,000
. HASE HARS
1,200,000& *123] 14,400
O=2D| EIIEAI =42
130, 000& x2CH*x23] 520
QAU BIIE 57 248
1,000,000& 13| 1,000
OMz=E =2ZA =25
60,000& *13] 60
O&AIE2 SAIZe 10,000




FA Faot
B Ejsl2 O A U MBOULH PE
?l: Higt2dE2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o WE R AR e 22
100,000 *20H 2,000
. TAIE 22 100,000 *20H 2,000
HAICH 2 HOIA R
1,000,000 4 4,000
HEEg =35 22 100,000 +20H 2,000
Ot A2 M 25,000
o MARE 2 AR MF
500,000 <204 0,000
HAIS = L BAHE 7
10,000,000 10,000
. HEE =3 MH 1,000, 0002 *57H 5,000
OrAIZE 28 dXU=2(DIES, HHE S)
3,000,000 3,000
OEISIZMEID A28 TN 7Y
5,000,000& 5,000
OB (M) EOIE ZEE X
22,000,000 22,000
OEHEtZdE 2t SHOIXI MAIS IS A (R
) M= 15,000,0002 15,000
OHistZdE2 SEI2TA 29
50,000,000 50,000
206 Tl 55,000 55,000
IEET 55,000 55,000
OHBILMEIR 2 HAMS T2 55,000
OFAIE M2 7Y 2,500,00081%23] 5,000
OMB U o 7ei(40i0] T &)
5,000,000 42} 20,000
O224 JIXM 7
7,500,000 *42] 30,000
207 ARl 20,000 20,000
01 = 20,000 20,000
OTAl 2= HM%EH MBIAE =8 =9
20,000,000 20,000
301 2N = 28,480 18,360 10,120
14 0Bt 2as 28,480 18,360 10,120
OEHSI2ME 2t SHE At & XHRAS AL AlH|
A 28,480
Odli €At &HI2 4
60,0002 x362 « 12 25,920
OXESAA =&
10,0002 %102+ 122 1,200
OFxEHEAL HA=E
160,000 *62] 960
OdilEAt 225 F¢ 80,0002 +5& 400
ENat2iAiEf 2 2tel 512,850 675,050 162,200
201 er2 3| 391,650 276,250 115,400
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M B NI TH U MSCIYN BE
?l: Higt2dE2 29 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 S22l 391,650 276,250 115,400
OtHatZME2 SS=2H| 391,650
oHIIR3 8,100,000 «12& 97,200
Odlot=E 23 2,400,000& 122 28,800
OZAIIA 23 2,400,000& « 122 28,800
O ArZ= 50,000 * 123 600
Odsea(5ZIIHanst)
30,0002« 122 360
OQHUSS(HMXLEE)
100,000« 122 1,200
OZHI0IX & HEAAE S
460,000& * 12 5,520
Ountsra2t galt| 300,000 300
OAgetd &3ald| 50,000 50
Ost=2 XL HE S 2| 2,000
LSS MG LEE
1,700,000& %12l 1,700
. ABIRE=S 100,000 #32 300
OAIZZEHl S| 87,000
. MEHZ HAL SXl2t2ld]
30,000,000& 30,000
AMEH2 JIHEHl |X2tel
1,500,000& « 122 18,000
o HEHZ MI|EH| |22l
1,000,000& «12& 12,000
. MESAAIAY X2t
1,000,000& « 122 12,000
o AIAE 001 [l
15,000,000 15,000
OdH2 3489
4,650,000 «2F« 122 111,600
OMEH2 T+ 2el(Uel=2)
2,000,000& « 122 24,000
OSSHI(HIALEE) 1,000,000 1,000
OZ &l SXI2eldl(XIAIX}) 3,220
. 288 1,500,000 1,500
Zteltl 1,000,000& 1,000
==l 60,000& « 122 720
401 AlIEHIZL 2 0HYI 121,200 291,100 A169,900
01 A&l 121,200 291,100 169,900
O2E=Al 2= 50,000,000& 50,000
OtHatZdE 2t == Hi2t wX|
30,000,000 30,000
OEHstZME 2t =SEZ W
41,200,000 41,200
e 2 24 71,200 71,200 0




2A:

B Ejsl2 O A U MBOULH PE
el EistZ e 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 71,200 71,200
01 At2teltl 71,200 71,200
Odgt+=ZH| 59,200
Ot E=s FX2AH(A2T 7¢)
10,000, 0002 10,000
OttetE4s +TAA 248
60,000& »202] 1,200
Otietz+ @ zie| 29
3,500,000 x2H 404 28,000
OHISES HaZx HA 89
1,000,000 203! 20,000
ouxz 12,000
OYA ASsHEal Ut
6,000,000& 200 & 12,000
Bzt =&t & 422,370 474,197 A51,827
Al 100,000
[Ea 322,370
ey =298 59,510 56,877 2,633
101 21A4H| 59,510 56,877 2,633
04 JIZtN2 2N S 2+ 59,510 56,877 2,633
OU=+=H O[S AIE2X JIZN22 A 34,280
OJlZ=s 79,6703 x2H 1282 20,3%
Oxg=g 79,6703 x2 »56 8,924
(OF=1=1: | Mi=:] 10,0002 x2& 128 2,560
OIE+e 1,440
o BHS XA 40,0003 x2H 62 480
E.HlS RS
20,0003 28 +62 240
. SMXIH 60,0002 x2&+6& 720
Og &=yl 400,000 x2E*13] 800
OJIZtHZ22 X TI=4| 80,0002 x2&H 160
ONAOIEE & ALY 2| JI2ZtHZ2=2 X 25,230
OoJlzs 79,6703 +3E »64L 15,297
OFd=dg 79,6702 x3& »28L 6,693
O=gtl, usHl 10,0002 3 ~p4 1,920
OtE+¢ 1,080
o BHXA 40,0002 x3H 32 360
o &85 HMAY
20,0002 x3&+32 180
o SMAHA 60,0003 x3&+3& 540
Oll=H| 80,0002 34 240
0T SAtda & |4 202,860 207,320 A4,460
Al 45,000
= 157,860
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B Ejsl2 O A U MBI DE
o?lr Higkd =& xE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 117,860 122,320 4,460
Al 12,500
= 105,360
01 At2teltl 32,860 38,720 A\5,860
Odgt+==H| 1,140
O01F AtMIX eld] 220,000 +3= 660
O&EmHIIZ HMelbl 160,000 *3& 480
OLul=H| 1,120
OSHESE A L= 1,120
. Yets 80,0004 +7H 560
2etst 50,0002 +74 350
et 30,0003 +7& 210
ogxz 5,600
O7A0F 2 2857 S| &t
700,000 x2CH x4 5,600
OtfistZdE 2t &0 X8 ZAME &
25,000,000 25,000
Al 12,500
T 12,500
03 ALY 85,000 83,600 1,400
OHztd HHYF A 20,000,000& 20,000
OtHstZME 2t MHNsSZ20d 2
65,000,000 65,000
207 AR 25,000 25,000 0
Al 12,500
Ea 12,500
03 Al =2t 25,000 25,000 0
O2H0F SAda & 54 AIFAR|
25,000,000 25,000
Al 12,500
o 12,500
308 AtXIEMSOIE 60,000 60,000 0
Al 20,000
s 40,000
11 S 2S0He 4 EAS A 60,000 60,000 0
ONNEESE & EEHTAANE |
60,000,000 60,000
Al 20,000
s 40,000
ESHLUE STt & |4 160,000 210,000 250,000
Al 55,000
Ea 105,000
207 ARl 10,000 10,000 0
Al 5,000




FA Faot
B Ejsl2 O A U MBI DE
=2l BishY =AM GR Y (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 5,000
03 Al 2HI 10,000 10,000 0
OES sttd=E SN & |4 AIEaH=2
] 10,000,000& 10,000
Al 5,000
[Ea 5,000
308 XXM SOIA 150,000 200,000 /50,000
Al 50,000
= 100,000
1 SIS0t HAS A 150,000 200,000 /50,000
OEigtd ol = MA AEi AL
150,000,000 150,000
Al 50,000
o 100,000
AHHE I AU (F40) 330,59 321,558 9,038
QI (Z44t1) 212,787 202,714 10,073
eI (S4t1) 212,787 202,714 10,073
101 @124H| 212,787 202,714 10,073
01 &2 179,641 176,768 2,873
OAIZRZRE
12,3213 +45A| 2H+27 B x 123 179,641
02 JIet&R 2= 33,146 25,946 7,200
OSSN =& 33,146
Oogggsded= 900,000& x2H 12 21,600
OAIZRZR4E
9,579% x45A| 228 <123 10,346
ORg=2e2=¢ 50,0008 x2& * 122 1,200
2l (F==4t0) 117,809 118,844 1,035
JlE2ZHl(F=4tm) 117,809 118,844 1,035
201 2= 45,809 46,844 1,035
01 At22t2lH] 45,809 46,844 21,035
oget=ZH| 10,865
OSAna=d 10,865,000& 10,865
OSHI(LA =2 AL E)
8,000 x28E » 1341+ 12 34,944
202 04| 67,200 67,200
01 =LHOHI 67,200 67,200
O2LH0iH| 200,000 x28EF «12& 67,200
203 g4l 4,800 4,800
M EA2HER=AH 4,800 4,800
SN2 400,000& 123 4,800




